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ECONOMICS

( Honours Core )

Paper : ECO-HC-5016
( Indian Economy—I )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate ﬁcll marks
for the questions

Answer either in English or in Assamese

1. Answer the following questions : 1x10=10
@t il PR e g -

(@) Define infant mortality rate (IMR).
Prex wgrRree i fin o

(b) What is the sex ratio in India according
to 2011 Census?

03> T CIRPRE WP SRes fo wgers
&2
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(c)

(d)

(e)

(g)

()

24A/145

(2)

In which year was the National Rural
Health Mission (NRHM) launched in
India?

TRTS (I 5C B AT I ST HES
41 2" ?

What is the full meaning of MGNREGA?
MGNREGAT 9 5 & 2

What is dependency ratio?
fAS3Mieror seire 2

When was the Integrated Rural
Development Programme (IRDP)
implemented in India?

THES AZS AN THT A (o oqSq A0
CzfeE 2 |

Which State of India is having the
lowest density of population as per 2011
Census?

205 B (AFEE O ©SROd (I IO
GG TG HD1Zo0F I 2

Which type of unemployment has zero
marginal productivity?

@ 23R R A1fed TesmeHierer *=1 ?
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(3)

() In which year was the Rashtriya
Uchchatar Shiksha Abhiyan (RUSA)
launched?

@ IS S Twed Fre Sfegm W 90
czfe 2

) Who developed the Human
Development Index (HDI)?

T G TR (I TR FRRE 2

2. Answer the following very shortly : 2x5=10
wore R wfS oyF eq fr -

(a) What do you mean by Lorenz curve?
ARG R WA & 3@ 2

(b) Mention two objectives of the Integrated
Rural Development Programme (IRDP).

TS 2T S SIS 01 el Srad A1 |

(c What is Human Development Index
(HDI)?
T T IR WA 192

(d) Mention two causes of rural
unemployment in India.

SIS 2T AR 161 TR SCEy 4 |
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(4)

(e) Mention two features of Indian economy
at the time of Indepenence.

FETOR TS SRS HYANS 1B (IF) Tra
90|

3. Answer the following shortly (any four) :
5x%4=20

e Tes frmn (R e wifon) -

(a) Write briefly about the National
Education Policy (NEP), 2020.

B PrFAfe, Kok TS oL for |

(b) “Development is taking place regarding
the health services in India after
Independence.” Give reasons.
“FRAGT IR SRCS FF CRR TS
G I’ IR M 40

(c) Briefly mention the factors responsible
for poor rate of investment in India.

eRee RfFcR g Tw® IRFR Fewed
forr 1

(d) What is the present status of health
care sector in India? Discuss.

SRS IS FENGI SRFI (I, HICEAGAl
41 |
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(S5)

(e) What measures have been taken by the
Government to reduce income
inequality in India? Explain.

WEE (RS Y7 I SRS 59l e
Y] oS (TR ? WS F4T |

~ () What are the major features of regional
imbalance in India?

SRCS WS (FIWOR 24 IR &F 2

4. Answer any four of the following questions :
10x4=40

wore faa epqareR R’ e vkt See o

(a) Discuss the growth and development of
Indian economy during the post-
Independence period.

AT IFTS SROY LA @ SF T
=TS AT A0

(b) Make a comparative analysis between
India and neighbouring developing
economies during the recent decades.

MRS ROTZS SR WIF  fHeedl

T SR S Bl e
Regga w411
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(6)

(c) What do you mean by poverty? Analyse
the various poverty alleviation
programmes introduced in India after
Independence.
wRwel WA & @2 IS IS TRy
TRITIT AR SRS A6 91 Rfeq siwtrmz

HICAToAT 4T |

(d) Discuss the different measures to solve
the problem of unemployment in India.
SROS Il TP WM AT AT
ffSn IragriyR SCEDT 4 |

(e) Explain the importance of domestic
savings as a prime source of capital
forrnation in India. Analyse the trend of
domestic savings in India.

SRTS e Moo I3 T oot v A%wa
BFG RN F41 | SROS T AEFI Y- =4S
ke =411

(/ Discuss the different causes of
inequality in Indian economy. Mention
the different remedial measures
undertaken by the government to
reduce inequality.
sRee GAeT (NN Rfoa sRemR wmm
1 | GRS (IqW ST IR AR HIPA
gz v Rfen ofSemyee I oo
TCEY 91|
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(7))

(g9 What do you mean by population
explosion? Analyse the causes for the
high rate of growth of population in
India.

G -RETPRT WA & qH 2 SF0S T &P
I TRz Resmd +41

(h) Explain how the demography of Indian
population has changed after
Independence with its impact on
economy of India.

HFRITel IE® SRed HRRIE 3tEy [
*fiafSe (g I SRed JIIfce TR 2™
@R AAfRCR, TG F¥471 |

* & %
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